552-410 Baseball Backstop without Hood

552-411 Baseball Backstop with Hood

PORTABLE

IMPORTANT

pPage 1
Rev 01/31/20

Please retain this instruction sheet in your files. It contains important maintenance instructions, as well as
replacement parts information.

553-204
Support

105-017

Pip
Plug \

553-351 Panels

552~-410 WITHOUT HOOD

553-351
553-209
553-201
553-211
553-212
553-213

12 pr  555-511

24 pr 555~-512
48 116-504
12 126-505
60 216-501
1 416-400
1l pr 125-523
8 196-803
2 116-513
7 105-017
2 226-501
60 326-501

Panels

Right Base Pipe
Left Base Pipe
Post

Post

Hardware Bag
1” x 1" Saddle Clamp

17 x 2 3/87 Saddle Clamp

5/16” x 1 %” Carriage Bolt 24
5/16”" x 17 Hex Bolt 32
5/16” Hex Nut

4" Socket Key 1

2 3/8" T-Clamp
3" x %" Socket Setscrew
5/16” x 3 %" Hex Head Bolt 2

3/8” Pipe Plug
5/16" Lock Nut
5/16” Lock Washer

N<SSNNRERREN

PIr
PIr

8
Pr
64
24
88
88

1

2
2
7

553-204
553-209
5§53-210
553-221
553-212
553-213
553-351
553-352

555-511
555-512
196-803
125-523
126-505
116-504
326-501
216-501
416-400
116-513
226-501
105-017

553-352 Panel

552-411 WITH HOOD

Hood Supports

Right Base Pipe

Left Base Pipe

Cross Bar

Post

Post

Panels

Panels

Hardware Bag

1” x 1" Saddle Clamps

1” x 2 3/8” Saddle Clamps
" x %" Socket Set Screws
T-Clamp

5/16” x 1 4" Carriage Bolts
5/16" % 1” Hex Bolts
5/16” Lock Washer

5/16" Hex Nut

4" Socket Key

5/16” x 3 %" Hex Head Bolt 5/16"
Lock Nut

2 3/8"” Pipe Plug

6 PANEL 7PIPE I1CTN 14 TOT. PCS.
640# Total Weight CLASS 70

9PANEL 9PIPE 1 CTN 19 TOT. PCS.
725# Total Weight CLASS 70

SportsPlay Equipment, Inc. www.sportsplayinc.com (800) 727-8180




552-410 Baseball Backstop without Hood
552~411 Baseball Backstop with Hood

PORTABLE
Page 2
Rev 01/31/20

IMPORTANT

PLEASE READ THESE INSTRUCTIONS BEFORE COMMENCING
ASSEMBLY. All equipment must be installed in accordance
with these instructions. Check your shipment against Bill
of Lading and Parts list. Any missing or broken parts must
be reported to your distributor within 10 days of receipt
of your order. When properly installed and maintained,
equipment will give many years of Safe, Trouble-Free use.
Periodically check for loose or broken parts. Loose bolts
must be tightened and broken parts must be replaced as they
can possibly create dangerous situations leading to
unnecessary accidents. Resilient Surfacing should be used
under all playground equipment. Appropriate publications,
available at no charge, from the Consumer Product Safety
Commission, include “A Handbook for Public Playground
Safety”. You can receive your free copy by calling 1-301-
504-7908.

TOOLS NEEDED FOR THE JOB:

Level
Crescent Wrench
Socket Wrench

GENERAL ASSEMBLY INSTRUCTIONS

1. Check each piece carefully and remove any sharp projections that may have
been caused by shipping.

2. DO NOT Tighten nuts more than hand-tight until the entire assembly is
completed.

3. All threaded ends of bolts protruding beyond nuts should be cut off and
peened over to remove any sharp edge.

SportsPlay Equipment, Inc. www.sportsplayinc.com (800)727-8180




552-410 Baseball Backstop without Hood
552-411 Baseball Backstop with Hood
PORTABLE

Page 3
Rev 01/31/20

SPECIFIC ASSEMBLY INSTRUCTIONS:

L.

Lay out all parts on ground as if backstop were folded down flat.

2. Assemble one side. It is helpful to have a number of short pieces of 2”°x4” or

NI AW

— \

4”x4” to block up the posts and panels so that clamps can be assembled. Make
sure that the 553-212 post is assembled so that the sleeve for wheels is on the
bottom, that is, to the outside when vertical.

Slip the Cross Bar over its stub and raise section vertically.

Assemble other side, raise to vertical position and slip into cross bar.

Tighten cross bar and bolt bases together at rear with T-clamp

Center section many now be assembled.

Hand-tighten all bolts securely.

If overhang is used, the sides may be assembled while on ground or after backstop
is raised.

-For 552-411 model only- Add hood sections

. To move backstop with transporters, raise up each outside end with tongue of

transporter and insert wheels. Backstop can then be moved with transporter from
rear of bases where they join.**

**The separate 552-151 Backstop Transporter is shipped assembled with two
wheels attached. Two additional wheels with an attachment sleeve for slipping
onto the front ends of the backstop are also furnished. The transporter itself has
sleeves on either side where these sleeves can be conveniently stored when unit is
not in use. **

MAINTENANCE:

Check periodically for loose bolts, broken parts and replace them immediately.

SportsPlay Equipment, Inc. www.sportsplayinc.com (800)727-8180




